
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Gradient of line 

between two 

points is…. 

 

 

Equation of the perpendicular 

bisector in the form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

 

Length of line between 

two points is…. 

 

 

Midpoint is…. 

 

Equation of the line 
between two points in the 

form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

(4, 5) and (6, 9) 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Gradient of line 

between two 

points is…. 

 

 

Equation of the perpendicular 

bisector in the form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

 

Length of line between 

two points is…. 

 

 

Midpoint is…. 

 

Equation of the line 
between two points in the 

form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

(8, −5) and (6, 1) 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Gradient of line 

between two 

points is…. 

 

 

Equation of the perpendicular 

bisector in the form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

 

Length of line between 

two points is…. 

 

 

Midpoint is…. 

 

Equation of the line 
between two points in the 

form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

(2, −3) and (8, −1) 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Gradient of line 

between two 

points is…. 

 

 

Equation of the perpendicular 

bisector in the form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

 

Length of line between 

two points is…. 

 

 

Midpoint is…. 

 

Equation of the line 
between two points in the 

form 𝑦 = 𝑚𝑥 + 𝑐 is… 

 

 

 

(3, 1) and (7, 0) 


